< | ¢ N
25 | £ 0
1) <2 (8 g
Tm N
ANnm 5 mw 4
N <
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ TS 2|23 .
- 83
[ _ Cnnmm Dm )
| @ Sergd | 32 s o
<wsa® | QF | < g
| = MU IR
= LED =
O2:5:8
<ETE
| =) mww §e
| ( ) ( ) ( ) <4 £
MU
7
7 5= S w
® 3
7 &
*
7 89 Gpl 5% m 44 9y 4) o5f o
| = 657 2 |8
i x 2 a = 2
28 | 2| B <
7 Z 0 ' Z o T
= © 24|y ® O o
7 ~ mG, N 2= N
< O 14 2 ox
| NO | = a3 8
o %_m_ z X< i}
| = B Y ¥ | 5| %t N
o~ ¥5 | N 25 o
| £z 3 | ¢
» N £
| omm| 2% 5| E .
7 [1a ] a 1S
| e = | g |2
- = | x 5 ¥
| e ]2 =
=2 x (@]
ES) SIS =
7 2 s SIS st | 3 5 2
| SEE| 5 | ¢
7 Z0 ~ < (@]
= = O
7 )
o
7 c
| E
. 53
P . = —t=1 c
o
| - s
= X >
| c
o
| =
| S 5
IS ©
7 915 o
| ; gl s 5
7 NS
T
| 8 S $ 3
| $5
| = v
(G D (G D (G D
| =
7 -
S
7
| L
L
K
X X X
= =
X X X
G/l 5% i Y4 Y 4) o7l 06!
~ 4 X X X
S
X X X
L
X X X
— S I ey |
X X X
X X X
wo © O
X X X
S 3| |
X X X
= <
X X X
N X @K T
~
S g
N X K >
cC
= 2 2
X X X N
>
~ C
S ZaS E—| B .m
5% 1)
0 907 .m
X X X W
= = NS
N X = © o
= g
c
2T
= wn
Ia
T:T ereys
" g-q Amouoid [oayezid
| L L L
| 1 ¢ 5 1
7 - —
7
L AN e e e e e e S T T T T T e e e e — — — — — — — — —
7
7
|
/]
=
S
7
7
7
7
N =S
3 =
9
S
Ly
~
. /
= =
m \ m

A

%

A\ ]

175
i
/

60
L6y

135
135

175

J 114 9

150
145
145
160

AR

.

)
)

przekrdj poziomy a-a

skala 1:1




